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INSTRUCTION TO CANDIDATES

Immediately after getting the bookiet read instructions
carefully, mentioned on the front and back page of the
question booklet. Do not open the seal given on the
right hand side, unless asked by the invigilator.
Write your Roll No., Answer-sheet No., in the specified
places given above and do your signature.

Make all entries in the OMR Answer Sheet as per the
given instructions otherwise Answer-Sheet will not be
evaluated.

After opening the seal, ensure that the Question
Booklet contains total No of pages as mentioned
above and prlntlng of all the 200 questions is proper.
if any discrepancy is found, inform the invigilator within
15 minutes and get the correct question-booklet.

For each question in the Question Booklet choose the
correct or most appropriate option from the given four
alternatives and darken the same circle in the OMR
Answer sheet with Black or Blue ball point pen.
Darken the circle of correct answer properly otherwise
answers will not be evaluated. The candidate will be
fully responsible for it.

There are 200 objective type questions in this question
booklet. 1 mark is allotted for each correct answer
and 1/4 mark will be deducted for each wrong Answer.
Do not write anything anywhere in the Question
Booklet and the Answer-Sheet except making entries
in the specified places otherwise OMR sheet will not
be evaluated.

After completion of the examination, only OMR Answer
Sheet and cover page of question booklet is to be
handed over to the invigilator. Carbon copy of the
Answer Sheet and Question Booklet may be taken away
by the examinee.

This Question Bocklet consists of parts namely :—
Part (1) General Studies 1- 50, Part (2) General
knowledge of Computer 51— 80, Part (3) General
Mental Aptitude 81-110, Part (4) General Mathematics
111-140, Part (5) General Hindi 141- 180, Part (6)
General English 181~ 200.

All questions are compulsory.

In case of any ambiguity in English version the Hindi
version shall be considered authentic.
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PART -1 (General Studies)
T - 1 (AT AeTuH)

Kusana Dynesty was the branch of which
tribe ?

(A)
®)
(®)
D)

The name of which ruler is inscribed in the iron
pillar of a Mehrauli in Delhi ?

Hind-Nu
Ming
U-Chi
ChangU

(A)
(B)

Chandragupta Il
‘Samudragupta
(C) Skandagupta
(D) ShriGupta

Which Englishman had termed the Revolt of
1857 as a conspiracy of Hindus and Muslim?

(A)
®)
©

D)

Which of the following States was not annexed
by Lord Dalhousie on the basis of Doctrine of
Lapse ? ‘

Autram
Homs
Kaning
Mendale

(A) Sambalpur
(B) Punjab
(C) Satara

(D) Nagpur

1.

- (©)

T A R et Bl Tk I off 9

A) fer-g,

B) Hm

©) 3=

D) ?Ti‘T'q\o

fegt o welicht <e Ty I # o Tprameh
am SR} 7

(A) w7 fgfa

B) T

©) w=&qH

D) -
1857 %1 3hifdl o ST g forg AR gremm
1 NG A ATl 3RS ol A § —

(A) SSgH

B) &=

(C) &

(D) et

e o & v @ ey % fem weneR
AR IS Sereett o T B A fRa o9 @
ffew amra # foerm =81 o o 7

(A) TR

B) WH

TART

D) g
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5. What was the Wood’s Despatch and when it 5. I3 o= @ o1 3R U8 & AP EST &1 ?
was implemented ?

A) Tem 9ie, 1854 30
(A) EducationPlan, 1854 AD @)

B) Expansion Plan of Rail, 1867 AD (B) T Fream A, 1867 o

(C) Land Settlement, 1892 AD , (C) i I, 1892 20
(D) British Record Account, 1901 AD (D) fafew fepré S, 1901 3o

6.  Onwhichriver Chitrakot waterfall is situated? 6. Tzl Sawud forg At w fa 2 9

(A) Shabri (A) =
(B) Narangi B) -t
(C) Indravati (C) gl
(D) Dankni D) Al
7. With whichriver Polavaram Projectisrelated 2 7, GiemeRH i i deEtEe 7
(A) Godavari (A e
(B) Shabri , (B) =
(©) Jonk TR (©) i
(D) Brahmani D) el
8. With which port Bailadilais linked ? 8. dewieeT e T T g 7
(A) Digha - (A) e
(B) Paradeep (B) UG
(C) Visakhapatnam (C) Trmemz=
(D) Haldia (D) &
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9. To whom the Speaker of Lok Sabha will 9.
address his resignation ?

(A)

®)

©)

©)

10. Inthe context of Lok Sabha election, which  10.

Deputy Speaker

President

-Vice President

Secretary General of Lok Sabha

of the following is unmatched ?

A)

B)

©

D)

11. Whatis not correct about the power of casting ~ 11.

Year 1977, 1996, 1999
Year 1979, 1997, 2003
Year 1980, 1989, 1991

Year 1998, 1999, 2009

vote of Speaker of Lok Sabha ?

(A)
®3)
(©)

D)

It is a power of Speaker
He has to use this power

He is not bound to use this power

-He exercises this power on Government

Bills

TR T T STEHET U] ITTIH FReent Tl
%O 9

(A) Swreme (fedt wfiem)
®) gl
(©) ImrHfa
(D) e TH A A

it T % T % vk B fe A e
gt T 3 0

(A) =¥ 1977, 1996, 1999
B) & 1979, 1997, 2003
(C) =9 1980,1989, 1991
D) =¥ 1998, 1999, 2009

AR T % regel h Foigw v 9 vife &
oA e gl g 7

(A) TE sremet $ U vk §
(B) g 30 Ik o1 TENT % AT &

I8 39 NIfh. o1 T Wal e w
AT &

©

(D)
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0172/GD-JT/RCE-M

(5]

Set- A



12.  What is unmatched about Public Accounts

13.

14.

Committee of the Parliament ?
(1 Ithas22 members

(i) Equalrepresentationis given to the both
Houses of the Parliament

@) The members of Committee are
nominated by the head of the House

(iv) No minister can be the member of this

Committee

(v)  Only Finance Minister is ex-officio
Secretary of this Committee

(vi) Itstenure is one year only

A o (iD) (i)

B @) ) (vi)

© @ (1) %

@ © w) (vi)

‘When a Constitutional amendment bill passed

by the Parliament, the President—
(A) will'puthis signature on the bill
(B) canrefusetosign

(C) can send the bill to the House for
reconsideration

(D) cankeep the bill in his pocket

Who takes two types of oath or affirmation at
the time of takingover the charge of his office ?

(A) President

(B) VicePresident

(C) Ministers

(D) Judges of Supreme Court

He2F

113}

14.

T I <Al ol |l & v | 91 gRied

e

G 38 22 Fee B §

() O oFl TGl i 3HH THE HidHTRe
Ten e &

Gi) e 3 e g ahf ¥ wew A
fore 9

(v) il g afifa 1 wew 78 & v

(v) e T vl 30 wtafa @ ed afE
LI

(v) T FEEE T T 2l §

A © (1) (i)
B) @) v) (vi)
(©) @ (1) W)
®) O (v) (Vi)
TIRa &1 ST @, a Ughid —

(A) ot TR 19T gEeR W

(B) TEAER F H TR H Gohdl ¢

(C) T % Fadres it gAfdem & fog i
T &

(D) Tt %t 3a S A W Tehdl @

ST U W&Vl i THT i < WhR i 3199 31

TifereTe S R 7

A) g

B) TR

(C) wA

(D) WA= AT % T
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15. Head Office of Central Statistical Organization 15. &cid ATl Teq (CSO) =1 gy &

(CSO)is in— 3
(A) Mumbai (A) gpqg #
(B)  Kanpur B) FERH
(C) Hyderabad (C) BFeEr
(D) Delhi ®O) fegia

16.  With the increase in total utility — 16. 9 Fof IWTIRT Tl @ o9 T —
(A) marginal utility increases (A) Timra STAFET Tedt 3
(B) marginal utility decreases (B) wwia Iudifiar wedi 3
(C) Marginal utility remains constant (C) HHTd Iufien R wdi 3
(D) None of the above (D) TWE H G @i I8

17. InIndia, National Income is computedby ~ 17, wra & wia o &) 7om e  —
(A) Reserve Bank of India A) ot 3o 5w 3
(B) Central Statistical Organization (CSO) ®) I G w (CSO)
(C) National Sample Survey Organization

(NSSO) (C) UER T Geder™l WA (NSSO)

(D) ASHT HA-I

(D) Planning Commission

18.  Which warfare was adopted by Babur in the 18. 1M UHIUe % gg & =R 7 frw gg vomelt

First Battle of Panipat ? TR TR ar 9
(A) Baragiri . (A) =Efd
(B) Circle system (B) T HOTert
(C) Tulugma (©) ggm
(D) Guerrilla system (D) IReT ToTEt

I FH % T g / SPACE FOR ROUGH WORK
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19.  Who of the following was not a following of

Nirgun Path ?

(A)
(B)
©
)

20. The name of the Chief Painter in the Court of

Surdas
Kabirdas
Nanak

All of the above

Akbar was —

(A)
(B)
(&)
®)

21. Match List-I with List-II and select the correct 21,

Baswan
Ustad Samad
Mansur Khan

Abul Hasan

answer using codes given below —

(@)
(b)
©
(D

A
(B)
©
(D)

List—I List-II
High speed (1) Pascal
Wavelength (2) Mach
Pressure (3) Angstrom
Energy (4) Joule
@ ® © @

2 l 3 4
| 2 4 3
2 3 1 4

3

19.

20.

T 0 9 i 00 9y R STk g A )

(A) LE

B) FRE™

(C) =&

(D) TRH Tt

FHR % AR 1 TG AR Am o -
(A) TEEH

(B) TG THE

(C) wg@H

D) AT

El- 131 gl - 11 o Ay Ft e & wgra
Y gHld R TE SR Faa hifg —
-1 TEf - 11

(a) "I (1) u=nd
(b) e | ) %

(©) TH 3) TEw
d) i @) §

@ & © @
A) 2 1 3 4
®B) 1 2 4 3
©) 2 3 4
®) 2 1 4 3
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22. Biodiversity Act of India was passedbythe 22

qge gN e o R Saffe stafem

Parliament in the year - I R T
(A) 1996 (A) 1996
(B) 1992 B) 1992
(C) 2002 (C) 2002
(D) 2000 D) 2000
23. Disease caused by eating fish found inwater 23, 3feifie auflde & suf@qa R I A T U
contaminated with industrial waste containing R o) Tt @R S RO A BT I R —
mercury 18— :
(A) Minmata disease @A) ™
(B) Hashimoto’s disease ®) ERiHET W
(C) Ostreoschlorosis (C) feHierariea
(D) Itai-Itai disease (D) 3AE-3AE W
24. Match List-I with List-II and select the 24, - I g - I % wre et sre it gemmar @
correct answer using codes given below — gﬁﬁ%m T TE I TG HIE —
List-I List-II '{qc'\zﬁ_ I zﬁﬁ -1
(a) Lithosphere (1) Living objects (a) Fordeher (1) Shfa B
(b) Hydrosphere (2) Mixture of (b) BRI @) G R
gases .
(c) Atmosphere (3) Water © (3)
(d) Biosphere  (4) Soil (@) TR @ |
@ ® © @ A PR
B) 4 ) 3 1 B). 4 2 3 1
© 1 3 2 4 <o 1 3 2 4
D) 4 3 2 O 4 3 2 1
I % fofdl S8 / SPACE FOR ROUGH WORK
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25

26.

27.

28.

WWEF (World Wildlife Fund) has mascotof — 25,

(A) Dolphin
(B) Kangaroo

(C) Tiger

(D) GiantPanda

International Tea Day was celebrated on — 26.

(A) 10th December
(B) 12th December
(C) 15th December

(D) 21stDecember.

Which of the following is a National Park of 27,

this State ?

(A) Indravati

(B) Kanger Valley
(C) Sanjay

(D) Allofthe above

Which of the following two cities are largerin =~ 28

terms of population in this State ?
(A) Raipur, Bhilai-Durg

(B) Raipur, Bilaspur

(C) Raipur, Rajnandagaon

(D) Raipur, Raigarh

WWF (et 7 goft i)t et 3 —

(A) TS

(B) e

(C) ™

D) el

sA=igi = T fom fafy st v w9
(A) 10 femex

B) 12 femmr

(©) 15 femmn

(D) 21 femer

1 @ -1 =9 T TP SEE § )
(A) gt

(B) @ERETL

(C) w@

D) IR T

e B g A T T R A R W R
Fma

(&) TR, fem-gi
®) T, g
(€) TAg, Torga
D) TEE, TG

Th R & for& 9718 / SPACE FOR ROUGH WORK

0172/GD-JT/RCE-M

[10]

Set—- A



29.

30.

31.

32.

Kabaddi World Cup of 2016 was won by
India by defeating -

(A) South Korea
(B) Thailand
(©) Tan

(D) Japan

Students of which of the following educational
institutions took an active part in Raipur of this
State during the Quit India Movement ?

(A) Rajkumar College
(B) St.Paul’s School
(C) Rashtriya Vidyalaya
(D) Chhattisgarh College

At which of the following places in this State
Forest Satyagraha was held in September
1930 during the Civil Disobedience Movement ?

(A) GattaSilli
(B) Mohbana

(C) Tamora

(D) Rudn

Which of the following adminstrative divisions
does not exist at present in this State?

(A) Raipur
(B) Bilaspur
(C) Raigarh

(D) Saraguja

29.

30.

31.

32.

2016 F FHag fova w wRa F g e A
T S 9

(A) Tl i
(B) is
©) T
(D) SmE

KA B NG h GRA T T & TR
foym Frafafan & & fre fremr dom &
ferenfeiat @ e wm fomm 7

(A) TEAR Hielst

(B) Ee A

(C) ugE FrmeE

(D) BTG Bl

QiITg 3= e &% ORF 39 59 %
frfefea & @ o e w fger 1930 §

el HeATe gl

A e fag

B) g

(C) @Hm

D) =&

T 7T § g9 § Feafafed § @ Ae-a
TR TH foreme 9 B 0

(A) AR ;

®) foemg

(C) e
(D) s

TF R & ford s091g / SPACE FOR ROUGH WORK
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33.

34.

35.

36.

Which of the following transport systems in
this State is not controlled by the Government ?

(A) Railtransport

(B) Road transport
(C) Airtransport

(D) None of the above

Out of the 90 Legislative Assembly seats in
this State, how many of the following are
reserved for SC and ST ?

(A) 44

B) 34
(C) 24

(D) 10

Which of the following authority is the
e_xecutive head of this State ?

(A) Governor

(B) Chief Minister

(C) Chief Secretary

(D) Director-General of Police

Who of the following was the first Chief
Minister of this State after its formation in
2000 AD ?

(A) Pt.Ravishankar Shukla
(B) Pt. Shyama Charan Shukla
(C) Dr.Raman Singh

(D) Ajit Kumar Jogi

33.

34.

35.

36.

29 T 1 fefofaa 8 9 - uRee sg=en
I < gR1 Geitferd gt &l Sl @ 7

(A) & ufEed

(B) UEH yRaE

(C) a1 Ui

(D) W & A R A&

29 g B fogm 991 i 90 diet 7 3§ fferfea
# Q feha! ST S a9 STREd ST
% forg omfea 2 9

(A) 44

B) 34

© 24

M) 10

30 T 1 wuTfoen-TgE fefafea # @ @R
TR B 7

(A) T

- (B) gEaE

(C) FeAurE
(D) Y maIfeers
2000 So H 716 < UTeId] 39 T3 o TIH Gl

TTH ¥ B AT 9

(A)  To TR
(B) o WRRY Y
(C) <o T fg
D) 3l FAR St

T T & T 918 / SPACE FOR ROUGH WORK
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37. What is correct about the no-confidence
motion against the Vice President of Zila
Panchayat ?

@

(@)

(i)

(iv)

")

(vi)

(A)
®)

©

O

It should be passed by 3/4 majority of
all members

It shoulld be passed by 2/3 majority of
all members

It should be passed by 3/4 members
present and voting

It should be passed by 2/3 members
present and voting

" The such meeting shall be presided over

by the President of Zila Panchayat

The such meeting shall be presided over
by a Government Officer

@ (iif) v)
(i) (v) (vi)
(i) (iii) (vi)
(i) (iii) V)

38. What is wrong of the following ?

(A)

®)

©

D)

The Governor is appointed by the
President |

The Governor exercises his powers with
the advice of Council of Ministers

The Governor can be removed by the
President

The Governor can ask the Council of
Ministers to reconsider on any advice

37.

38.

e vama & Iuege & fog s rwam

Flmadadiand )

() ¥ T TeE % 3/4 TgAd O TR B

(i) T T e b 2/3 AgHd | TIRG B
it

(i) T SR TN TASH Hiadiel 3/4 TSl
% g wika BT Hfee

(iv) TE U TN HAGH hietel 2/3 Feel
% g uiRa 2 =iy

v) U3 affiem & sremed Ren v9ra H
JTeT gRI Rl SH

(v VA AReE R eHedl U ITEe
SR g Rl St

A @ (i) )

B (iv) (vi)

© @ (i) i)

D) () (i) )

iR 7 Q@ el T 2 9

(A) TSI i s Tgufa grr 6 S @

(B) TaUE 1| Wil w1 v AR
& A & TRl 2

(C) THU@ @l TPdfl gRI U8 & gern <
Tehdl 3

(D) T forelt el W gafdar % fog
wi=mfeg ¥ %8 Tl @
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39. What is correct about the meetings of Gram 39,

Sabha ?

(i)  There shall be held at least one meeting
of the Gram Sabha in every three
months

(i)  There shall be held at least one meeting
of the Gram Sabha in every four months

(i) The meeting of the Gram Sabha shall
" be organized in each village of Gram
Panchayat

(iv) The meeting of the Gram Sabha shall
be organized in a village of Gram
Panchayat in rotation

(v)  Upon arequisition in writing by more
than one-half of total number of
members of Gram Sabha meeting of
Gram Sabha shall be held

.(vi)  Upon arequisition in writing by more
than one-third members of Gram Sabha
meecting of Gram Sabha shall be held

A O (iii) v)
® @ (i) )
<€ ® (i) (vi)
D) @ (i) vy
40. The main trees of forest in the State are — 40,

(A) Paddle and Khair
(B) Paddie and Sal
(C) Saland Honey tree

(D) Sal and Bizatree

TH H 6l A5 F e wd w0

)

(i)
(iid)
()

W)

(vi)

A)
®)
©)

D)

T A W18 | I 9T hl HA-U-5H
T 4o AR gt

T IR HIg § U GHT T FA-T-FH
T Jo AT gett

T TNTEd % Uche TE | U g9 R
5% Bl

U T o Rl TR AH H SHRIER
TR GHT I 95 grit

TH T % Y A ARRE Few gR
foflga =7 @ sremien ey @ ® IW
T B Yoeh EifTd hr St

T GW % - @ ariten wewn
R fofea w0 ¥ aregven fRw oM
I T Joh o st

® .G )
(i) (iv) vi)
® .G vi)

(1) (i) W)

T ¥ 7 % e 94 A E )

(A)
(B)
©)
D)

RIUCRCRCIC
RIERCEIEN
e i

T &1 & Tl 918 / SPACE FOR ROUGH WORK
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41.

42.

43.

44,

Major oil seed of the State is —
(A) flex

(B) mustard

(C) groundnut

(D) soyabean

Which of the following rivers flows towards
west ? '

'(A) Hasdo

(B) Indravati
(C) Mahanadi
(D) Shivnath

Which of the following minerals is not found in
the State ?

(A) Limestone
(B) Copper ore
(C) Ironore
(D) Uranium

With the help of which country, the first
electricity production centre was established
in this State ?

(A) America
(B) France
(C) Japan

(D) Soviet Union

41.

42.

43.

T I W foee T § —
(A) et

- B) @

(C) et

(D) AEEHE

= 7 A Fi-f 7<) ufeem B AR T8 B 7
(A) T

B) Ed

(C) #emal

D) Ream

form Q) A-an whiet 59 To § 8 o e
27 |
(A)  TA-TRR

B) AW 3EEh

(C) Hig 3=h

D) T
TG A YoM (g ScTeA dg R o %
AT T g3 o1 7

(A) smafe
(B) %™
(C©) <muE

(D) wifema a9

T %1 % fordt 5718 / SPACE FOR ROUGH WORK
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45.

46.

47.

When was the New State Industrial Policy 45.

implemented ?

(A) 1April, 2014

" B) 1November, 2014

(C) 1July,2015

(D) 1November, 2015

The forests of which of the following species ~ 46.

are largely found in this State ?
(A) Sa

B) Teak

(C) Bija

(D) Bamboo

Which of the following National Parks in this 47.

State is the largest in area?
(A) l Indravati

(B) GuruGhasidas

(C) Kanger

(D) None of the above

T ol S i Fa AR R S 9
(A) 1304, 2014
B) 17w, 2014
(C) 199%, 2015
(D) 17R, 2015

30 T 9 Topletiga A @ e S1fer % 3 sAfrerer

ReECE

(A) I
®) ®HH
(C)
®)

= T | fafafea & @ SF-u1 ag S
&l 1w forege R 9

(A)  FgmEt
(B) % TG
(C) @R

(D) IR { A RE 7

& HE & ol F18 / SPACE FOR ROUGH WORK

0172/GD-JT/RCE-M
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48.

49.

50.

Maniyari river is the tributory of which of the

following rivers in this State ?
(A) Mahanadi

(B) Arpa

(C) Indravati

D) Shiﬁlaﬂl

The largest deposits of which of the following
minerals is available in this State ?

(A) Iron

(B) Coal

(C) Bauxite
(D) Lime-stone

In which of the following years the British

~ territories of this State was amalgamated in

the central provinces ?
(A) 1818AD
(B) 1830AD
(C) 1861 AD

(D) 1862 AD

48.

49.

50.

34 T 1 Afart wd frafaRea 7 2 frg ad
! TEIS R 7

(A) e
B) 3R
(C) wgmEd
D) e

2 T ¥ fafafea # @ fra w0 gaa
31f4eh YeR Sy § 7

(A) e
(B)
(©) digErRe
D) TR

frafofaa 3 @ v 9 § 20w & ity a5
@ WE Tiat # geTed foRar w9

>(A) 181830

(B) 1830%0
(C) 1861%

D) 1862%

¥ %1 % ford g / SPACE FOR ROUGH WORK
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51.

52.

53.

54.

PART - II (General Knowledge of Computer)
HOT — 11 (FFER T AT SRR

In banking, railways etc., which computers is
used ?

(A) Mini computer
(B) Microcomputer
(C) Main frames
(D) Super computer

In computer, which of the following is the
product of data processing ?

(A) Information

(B) Data

(C) Software

(D) System

The main job of CPU is to -

(A) carry out program instructions

(B) store data/information for future use
(C) process data and information

(D) doth(A)and(C) -

Which of the following is not an output
device?

(A) Scanner
(B) Printer
(C) Touchscreen

(D) Plotter

51.

52.

53.

54.

A, X anfe F BR-T FER H ST
BT 7

@) fief g

B) I TR

(C) HANA

D) FRFAX

Hog B, frafafea § @ FA-91 3G, 9@
TRl & e ] 7

(A) T

B) sl

(C) TR

@) foen

CPU &I T4 %M § —

(A) T G A T

B) a3 e gier / o Rl e we
(C) gt 3R o 4l Wiska

D) T (A) IR (C)

frfefiad 1 @ -1 ATSeye ST 7 ¢ 7
(A) T

®) fre

(C) TATHA

(D) I

T FH % T2t s1g / SPACE FOR ROUGH WORK

0172/GD-JT/RCE-M
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SR

56.

A dot matrix printer —
()  prints an entire line at a time
(i)  1sanon-impact printer

@) allows multiple copies to be taken at a
time

(iv)  prints one character at a time
Which of the above statements are true ?
(A) (1) and (ii)

B) (1) and (11})

(C) (i) and (iv)

(D) (1) and (iii)

A Laser printer -

(i  givesabetter quality print out compared
to inkjet printer

(i) islessexpensive than an inkjet printer

() is more expensive than a dot matrix
_ printer

(iv)  gives abetter quality print out compared
.to dot matrix printer

Which of the above statements are true ?
(A)  (Dand(ii)

(B) (1) and (iif)

© @, (i) and (iv)

@) (@, (iii) and (iv)

55.

56.

T gie A e —

() AR A Uh g o fie Fw g

G) U A-gide TR R

(i) U IR H Tk O AR it Frepreran 3

(iv) U IR B G 3R e wxar 3

IR HA-T T T &

(A) (@) ¥R (i)

B) (i) 3R i)

(C) (i) IR (iv)

D) (i) 3 (iii)

T oo e —

@ i e i gom # et e aren
fieanse <t ?

(i) FHoe fire < ger & o wlfen 3

i) e A fiiex i o # warer wien &

(v) eic Al B i gorn § 1ot Jome
el fieanse 2ar 3

IR HIA-Q a1 TEE ]

(A) (i) 3 (i)

B) (i) W (iii)

©) (), (i) 3 (iv)

D) (), (iii) 3 (iv)

TF 1 % & S8 / SPACE FOR ROUGH WORK

0172/GD-JT/RCE-M
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57.

58.

59.

60.

Which is single user operating system ?
(A) MS-DOS

(B) UNIX

(C) ZENIX

(D) LINUX

Linuxisan....... operating system.
(A) Microsoft,

(B) Opensource

(C) Windows

(D) Mac

To move to the bottom of a document,
press — '

(A) Pagedownkey
(B) Homekey

(C) Ctrlkey +Endkey
(D) Endkey

Which function key is used to check
spellings ?

A F2
®B) F>5
(©) F7

(D) Fl11

S)A

58.

59.

60.

T q HH-T1 Tl PR AR oA & 1
(A) MS-DOS
(B) UNIX

ggiic % A2 g % fog Frfeea @ @
HH-T1 R e B 7

(A) U ERAH

(B) TH

(C) Fgd + Qg A

D) TwWH

QAfFT 6 FA & o0 HA-H FE B H
I B & 7

(A) F2
®) F>5
(C) F7

(D) Fll

TF M & ol 18 / SPACE FOR ROUGH WORK

0172/GD-JT/RCE-M

[20]

Set- A



61.

62.

63.

64.

Which of the following is a correct format of
E-mail address ?

(A) name@website.info

(B) www.nameofwebsite.com

(C) name@website.com

(D) name.website.com

What is e-commerce ?

(A) Buyingand selling international goods

(B) Buying and selling products and services
over internet

(C) Buying and selling products and services
not found in stores

(D) Buying and selling products having to do
with computer

Name the self-replicating program that
propagates through computer network.

(A) keylogger

(B) worm

(C) cracker

(D) Allofthe above

What kind of attempts is made by individuals
to obtain confidential information from a person
by falsifying their identity ?

(A) Computer virus
(B) ” Phishing scams
(C) Spyware scams

(D) Spam

61.

62.

63.

64.

-0t el foran ol Tl ool -1 § 9
(A) name@website.info.

(B) www.nameofwebsite.com

(C) name@website.com

(D) name.website.com

S-hd R )

(A) - FFRIE T i ade ok feh

(B) T W UWH IR wiig € @l ik
feshl

(C) &M H e frcaretl amm 3R affa H
ailig AR frhr

(D) FHX F TWE I Tl 3R fEh

FHR b & gRI TEIRA GG & redael

BT R A TR 7

(A) &R
®) o

(C)
(D) TR wt

foredt =afts = gRT oot vemE % Ay R
R Thdl TH I U A H JAE =
HEA & 7

(A) TR IR

B) TRfIwT Thy

(C) IR Thy

D) =

TH & % Tk g /SPACE FOR ROUGH WORK
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65.

66.

67.

68.

Which one of the following is the characteristic
of amultimedia system?

(A) High storage

(B) High data-rates
(C) Bigmonitor

(D) Both(A)and(B)

Documents, movies, images and photographs,
etc., are stored at a —

(A) Application server

B) Webserver

(C) Printserver

(D) Fileserver

Which technology is used in CD ?
(A) Mechanical

(B) Electrical

(C) Laser

(D) Electromagnetic

Which of the following storage medium may
largest storage capacity 7

(A) DVD
(B). Pendrive
(C) CD

(D) Floppy disk

65.

66.

67.

68.

frffaa § @ d-dt fxvar seddifen
e @ g 1

(A) 3 wrd

B) 31 T

(C) el HITe

D) (AT BN

B8 7

(A) QwrRTH TR

B) TR

(C) Tre &R

(D) W TR

T & T A1 AheIE ISR Bl g 7
(A) Hehiendt |
B) il

(C) R

(D) FFRHIAH

Pt 1 & S R B N 4 T @R
e HA-T 8 TRl 8 ]

Ay @&

(B) U gRM
©)
(D) TATH fewh

& #r % fordl s / SPACE FOR ROUGH WORK
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69. Which is not the search engine ? 69.

(A) Altavista.com
(B) Google.com
(C) Facebook.com
(D) Yahoo.com

70.  Email stands for — \ 0.

(A) Electronic Mail
(B) ElectricMail
(C) Mechanical Mail

(D) Electromechanical Mail

71. A multimedia video file consists of a sequence 71,

of -

(A) pictures
(B) audios
(C) fames

(D)  signals

72.  Which one may be a part of a multimediafile? 72,

(A) Text,pictures
(B) Audio, videos
(C) Animations

(D) All of the above

T 9 A T 3 R 7
(A) Altavista.com

B) Google.com
(C) Facebook.com

(D) Yahoo.com
Email % foRga 7@ 2 —

(A)  FeIH Al

B) iR o

(C) Hehferet ot

(D) FolRHR e Hel

Th AediHifen difedt wea A dvffag s &
Bdg ~

(A) TR

(B) sHteAt

(C) W

D) fma

f A @ w-a o A wee @
T 8 ]

(&) e, el

B) 3, Hife

(C) HingH

(D) SR a+ft

T & % Tl S8 / SPACE FOR ROUGH WORK
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73.

74.

75.

76.

On which of the following, device data cannot
be written more than once ?

(A) CD-R
B) CD-RW
(C) DVD-RW
(D) Flash Drive

Which of the following disks has maximum
storage capacity 7 -

(A) Bluray

(B) Floppydisk

(©) CD

®) DVD

What is the full form of SEO ?
(A) Searchengine organization
(B) Search engine operation
(C) Search engine optimization

(D) Search engine objective

How can a person stop a slide show ?
(A) Pressescape

(B) Presstheright arrow

(C) Press the left arrow

(D) Press the down arrow

73.

74.

75.

76.

= § ¥ H-9 fea=a & 3o & A 3 TR
78l forar (store &) S HeFAT B 7

A) @ @-3r

B) -3 =
(C) SAE-3W &=
D) T A

= @ A e feom 1wl RORad (VR
&) T ST 8 !

A) =R

B) e foe

(€) e

®)

SEO &1 i &4 F1  7
(A) T ToH HAFATGATH
(B) TH I ATRIA
(C) T 39 ACHET
D) & i e
g <ufth TEe T Bl A Ah G @ !
(A) TR I IR

(B) alfeti Wl IR
(C) Rl W Al @R
D) rerelt W0 A R

% %M &+ T 18 / SPACE FOR ROUGH WORK
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77.  Which one is correct regarding antivirus . 77, ¥ are uw % e § AE-mr AR L 9

program ?

(A) McAfee
(A) McAfee
B) AVG B) AVG

C) Kaspersk
(C) Kaspersky © e

©) AU ©) AU
-78.  The supervisor of computer is — 78. TR H GIARH & —

(A) ALU @) Jwg
B) OS . B) N
(©) CPU (C) dd g
D) CU ® H.3

79. Which one of the following is an impact ~ 79. e & & B9-a1 v e e d 9
printer ? -
(A) Daisy wheel printer (A) < et i
(B) Lineprinter ®) @ i
(C) Dot matrix printer (©) e Higww fire
(D) Allofthe above D) ST Tt

80. To find a word of your choice in a Google ~ gg. T T 5o o UTH <& § 3R 79E % v
Search Engine Webpage, the keyboard A ?Zﬁ % R s B —
shortcut is —
(A) Ctrl-E (A) Cul-E
(B) Cul-F (B) Ctrl-F
(C) Cul-Z | (C) Cti-Zz
(D) Cul-X D) Cul-X

T & % Tod 318 / SPACE FOR ROUGH WORK

0172/GD-JT/RCE-M [25] Set—-A



PART —~III (General Mental Aptitude)
T - 1] (AT AR Thadt)
A 3wt PR g et T T

81. Find the odd word out in the following

group in the content of note band —
(A) %5000 banknote
(R) ¥ 1000 banknote

(C) %500 banknote
(D) None of the above

82. Find the odd number out in the following

group —
(A) 068921
B) 50653
(C) 12167
(D) 77616
83. Find the odd one out—
(A) DTFV
(B) SBUD
(C) KNMP
(D) PKRL

84. Indicate the number which should be in place
of question mark from given alternatives —~

6,48,192, ?
(A) 296
(B) 336
(C) 338
D) 384

83.

81.

82.

84.

H —

(A)  T5000 H HAR

B) 1000 & AR

(C)  T500 7 dFAC

(D) W6 d T HE T
fferfiad g & e o o o= -
(A) 68921

(B) 50653

(©) 12167

(D) 77616

femferfiaa T & frm &1 T AL -
(A) DTEV

(B) SBUD

(C) KNMP

(D) PKRL

20l - R % T W el de e

7 ofig -
6,48,192, ?
(A) 296
B) 336
(C) 338
(D) 384

IF F1 % T 918 / SPACE FOR ROUGH WORK
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85. Find the next term — 85, 3TN UG AT ERT )

2,7,24,77, 238, ... 2,7,24,77,238, ...
(A) 723 (A) 723
B) 721 B) 721
©) 714 <€) 714
D 722 (D) 722
8. 1,2,1,5,6,2,9,10,..,13,14,9 86. 1,2,1,5,6,2,9,10,..,13,14,9
Indicate the number whilch should come in the SR Soft # g o e S el e §
blank space in the above series : BTl —
Ay 4 A) 4
B) 6 ' B) 6
<© 7 € 7
& = ®) 12
87. 3,9,25,65, ? 87. 3,9.25.65, ?
Indicate the number which comes next in the IR Joft # SpTe 37 W B —
above series. ,
@A) 145 (A) 145
®) 161 B) 161
(C) 169 (C) 169
D) 192 D) 192
88. cy, gu,kg, ? 88. cy, gukg, ?
Which letter will come in the blank space of SR Aoft 7 wreft e § g —
the above series ?
(A) um
(A) um
© L (B) pm
(C) om (C) om
D) - ou D) ou

T % % fo@ 18 / SPACE FOR ROUGH WORK

0172/GD-JT/RCE-M [27] Set - A



89. A series has been given with ablank space. ~ 89. Uh o ¥R | oo o w3 | f@ ™
Out of four alternatives, find the correct = foreetl & @ W& SW gAY —
answer — C,G,D, ... E1
C,G,D, ... E/1
(A) F
(A) F
®) G
® G
C) H
© H ©)
®) I ®) J
9. Z,A,W,D,T,G,Q,J, 22 9. Z,A,W,D,T,G,QJ, 22
In the above series, which letter will come in ST Aol A well T A 0 U8 2
the blank space ? ‘
(A) K,L
(A) K, L
® MO0
®) MO
© M.T <) MT
D) M,N ®) MN
91. Inthe following letter series, some letters are 91. f=ferRaa atew Aoft & FS IR I 21 qH
missing. The missing letters are given in the AR GG FA AR TWE A Q>3 1w
proper order in one of the references given W gﬁq = ‘
below. Find the correct response ~ cccbb T uGO bbbaa c
ccebb aa cc bbbaa__ ¢
(A) baca
(A) baca
b
®) baba (B) baba
(C) acac (C) acac
(D) None of the above (D) TRE H 4 HE A8l
T FE & ford W18 / SPACE FOR ROUGH WORK
0172/GD-JT/RCE-M [28] Set- A



92.  Fill in the missing term, selecting from the 9. fmfefRaaswa R AR IH TN 3 W —

answers given below —
T WU K 3 ]14]|5
- 7 4l 8N 9
171 182 193 11| 12] 13
110 144 | 2
110|144 | 2
A) 162 A 162
B) 200 B) 200
©) 182 ©C) 182
D) 169 (D) 169
93.  Thediameter of each circle shown in the given 03, ot ot for v e Y ORRY <0’ R A
lf;lglire is ‘d’, then the area of the square is given e T 7 & S
(A) 9d (A) 9d
®) 814’ B) 81d>
(©) 9d (€) 9d?
D) 3d* D) 3d>
94.  Choose the missing number from the options 94. Frafafas feredi il e By —
given below —

5 ; 5 Ty B2 4 25
2516 8164 64( 7 ) 144 ' 2.516 8164 64®144
36 49 36
36 9 36

A) 31 ' A) 31
®) 23 | B) 23
© 34 © 34
(D) None of the above (D) Sk A A HE &l

% 1 % fo@ 9718 / SPACE FOR ROUGH WORK
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95.

96.

91.

Choose the correct answer figure in the
sequence of the following problem figure —

=g

(A)

® | X]
X

(D) None of the above

©)

A clock moves 12 seconds fast in every
3 hours. If it is set on Sunday at 3 O'clock,
then what time will it show at 10 O'clock morn-
ing on Tuesday ?

(A) 10hours 2 minutes 50 seconds

(B) 10hours 3 minutes 25 seconds

(C) 10hours 2 minutes 54 seconds

(D) 10hours 2 minutes 52 seconds

Ajay, Anish and Aman are friends, whose
metron is Suzen. Weight of Ajay is 50% more
than weight of Anish and weight of Aman is 25%
less than the weight of Ajay. The weight of Suzen
is one-third of the total weight of three boys.
The total weight of four persons is 232 kg.
Choose the proper answer in the ascending
weight of them —

(A) Ajay, Suzen, Aman, Anish

(B) Aman, Ajay, Suzen, Anish

(C) Anish, Aman, Suzen, Ajay

(D) None of the above

95.

96.

97.

fFrtferRaa wea fet 3ot % o i@ @ s o
foreedt & @ Wl forepeg BIfCY ~

JZ

A)

X
X

(D) TRE T A R T

Tk TS T 3 50¢ H 12 VRS T 9, Sl @ |
Ife I WER B AW 3 T Ta! Te Heh T
Al TR B Wi 10 9 I8 1 G g 7
(A) 107w 2 T 50 Tve

(B) 1099 3 fiFe 25 vave

(C) 108w 2 fiFe 54 90

(D) 109w 2 fiFe 52 TamE

N GO A R | ST il IO, H o o F
50% 3R 3 | S ST I T9H, T b a9
A 25% 9 3 | o T A1 S % e A9 b
Toh-TogtE a9 R B | S AR W Fel Ao 232
R R | S 9 TG A A W e FA R —
(A) 3, o, 3, SAFH

(B) 3T, 319, o, A

(C) I, 3, oM, 3

(D) SREF A B A

®)

©

T & % fordl g / SPACE FOR ROUGH WORK
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9s.

99.

100.

If the alphabates from A to Z are written in
reverse order, which will be the fourth letter
to the left of the fifteenth letter from the right ?

A) T
B) S
© R
(D) None of the above

Which of the following diagrams represents
relationship between cloths, Red, Papers ?

w Qo
®)
o (07
o (0O

Which number will come in the blank space ?

2(3[5]|7
819 2
1[(3]6
18 |14 |12
(A) 22
B) 21
(C) 23
®) 19

98.

99.

gl ST FofATer & SeR A T Z 9 It 55 3
fora A1 g @ g oo % it e ot -
B 7

A T

B) S
©) R

(D) SRIE A Y AL &
e § & Fi-w1 oo e, o, O %
HEA WEl TEY I T 8 7

A) @O

®)
® (00

100. @rell I | -1 376 897 7

2[(3]5]7
8[9]1]2
4 11[3]6
18 |14 |12

A) 22

B) 21

(C) 23

@®) 19

T %™ & T s1g / SPACE FOR ROUGH WORK
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101. Whichof the followingcouldbe avalueof xin 101, Tt # frmferfm & & x 1 A -8 &1

the diagram ? a1fe 7
A A
B L)% 5 D\5x
D D
(A) 10 & C
(A) 10
B) 20
(C) 40 ®) 20
®) 50 (C) 40
. . . . . @) 50
102. Which ﬁg};re will come next in the following 100, et St & S —
sequence ? : 5 - =
X R | I e S o
5 O < O X
L.
™ 5 @ [0
(A) 1. O
) *
0
= ®)
®B) E 3 = X
5 . 0
C /
© | © [
X
- ]
L :
D) ) 0
! ol
103. How many squares are there in the figure ? 103. o o & foram w1 R 9
Py
LS |@
B ‘
|_‘~y{
A 21 ‘ (A) 21
®) 22 . B) 22
€ 23 ' (C) 23
D) 24 D) 24

TF &1 % ford 918 / SPACE FOR ROUGH WORK

0172/GD-JT/RCE-M o 132] . Set—A



104.

105.

Arpit told Manish “‘yesterday, I met the son of
wife’s father-in-law™. How is Arpit related to
that man ?

(A) Brother

(B) Father

(C) Son-in-law

(D) Niece

A quiz competition was organized in a school
and the performance of students was recorded
as below but incomplete :

Average Good Excellent Total

Male 12
Female 36
Total 33

106.

(1)  Half the students were either excellent
or good.

()  40% of students were female.

(i)  One-third of the male students were
average.

How many students are both male and good ?
A 24
B) 16

(©) 27

(D) None of the above

Elisa is three times older than Yogita. Zarina is
half the age of Wahida. Yogita is older than
Zarina. Which of the following information will
be sufficient to estimate Elisa's age ?

(A)
(B) Both Yogita and Wahida are older than
Zarina

Both (A) and (B) above

None of the above

Zarina is 10 years old

©
D)

S B 9 7 6 ot A9 el 3 g

104.
&4 firen o) 95 =t offa A g o @
TR g 7
(A) Wi
®B) T
(C) TR’

(D) et

105. Toreft foremmerg v wrfter miferiforen a1 i
TR o ferenBidt @ wevl fafRe
arft # argf feam @ —

UERY 3 SaW P
i 12
Higer 36

Sl 33
O o ferf A son g @ s D
(i) 40% foremeff afgen o |
() 9B FremfiEl 7 Q um-foerd aewe &

AT Tehe foremeff gew ai e ¥ 9
(A) 24
(B) 16
(C) 27
(D) SRE A T8
106. Tferan 1 3 e B 3@ B o T S | Sl

<l 37 afger B 7 I aet B | D sl @
% % | Fefafaa # & ofern 4 <5 0 =
& fordr o wafa 3 9 '

(A) S HH 1099

B) far 3R afeer < S A 7
(C) GFi (A) W (B)

D) IR A T A 7 )

T 1 & for&l W1g / SPACE FOR ROUGH WORK

0172/GD-JT/RCE-M
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107.

108.

109.

110.

In an examination, a student scores 4 marks
for every correct answer and loses 1 mark for
every wrong answer. If he attempts all
75 questions and secures 125 marks, the
number of questions he attempted correctly is—

(A) 40
B) 45
©) 35
(D) None of the above

Fifty students were there in eighth class who
took the mental ability test. Six of the students
did not qualify. Out of the remaining Ramesh
ranked 14th from the last .What was his rank
from the top ? '

A 32
®) 30
© 31
(D) None of the above

01/08/2010 is the first Wednesday. Which is
the fourth Saturday of August 2010 ?

(A) 22/08/2010
B) 25/08/2010

(C) 26/08/2010

(D) 24/08/2010

A priniter numbers the pages of a book starting
with 1 and uses 3189 digits in all. How many
pages does the book have ?

(A) 1074
(B) 1080
(C©) 1120
(D) None of the above

107.

108.

109.

110.

foreft wdiem 7w fereneff it % WEl SR W
4 3o o B TR Wcdieh TTeld ST W 1 3 A
Rar 2 | ot 78 T 75 U 5 Rl 8 AR S
125 3 e &, 31 e Tera T8l Tt &t ol 7
(A) 40

B) 45

© 35

D) THAFRE T

et et 3 50 ferenRial B wfER A
wiier” ot 7 | @ foremff amehol ¢ | 99 T
i # W w o A 1497 I A1 |
AT TR VN A BT T o ]

(A) 32

B) 30

(C) 31 ,

D) SR A & HE 7l

afE 01/08/2010 1 W2/ FHAR &, Tl SFT T
< AR HH-G1 BT 7

(A) 22/08/2010

(B) 25/08/2010

(C) 26/08/2010

(D) 24/08/2010

T BiFeR e Qe TR A AR 1 e Rl @
3R el 3189 ST T ST Al & | T
3w 7

(A) 1074

B) 1080

(C) 1120

(D) IR d T FE T

& %1 % ford g / SPACE FOR ROUGH WORK
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111. Which one of the following is a prime

112.

113.

number ?

(A)

(B)
©
D)

Choose the rational number which does not

) } 2. .
lie between rational numbers — g and —— |

If a and b are both odd numbers, which of
the following numbers is an even number ?

(A)
B)
©
D)

161
147
373
437

ab
a+b
a+b+1

ab+2

PART ~1V (General Mathematics)
AT - IV (91T 91T
111, 7= 3 @ Ba-ar s e 9

(A) 161
(B)
©

D)

147
373

437

112. aguﬁﬁam@ﬁmﬁﬂamaﬁ_g R

l —é % weg fog i R -

5

D) 50

4fs a q b S o w3, A e et
T | BA-T1 T GET 8 )

(A) ab

(B)
©
(D)

113.

a+b

a+b+1

ab +2

Th 1 % ol W08 / SPACE FOR ROUGH WORK
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114. Square root of 26-35 upto three places of
decimal is -

(A) 5133
B) 5333
(C) 5313
D) 5197

115. Ina pair of fractions, fraction A‘is twice the
fraction B and the product of two fractions is

2

-2"5' . What is the value of fraction A ?

W]

(A)

(B)g

©)

o

(D) None of the above

116. Two men A and B run a4 km race on a course

1
1 km round. If their speeds are as 5 : 4, then

how often does the winner pass the other ?
(A) Thrice

B) Twice

(C) Once

(D) Never

114.

115.

116.

26-35 1 T I % T 3iehi deh BTl —
(A) 5133
(B) 5333
(C) 5313
(D) 5197
2 firett § B A, it B o1 g1 2 SR G
ﬁﬁmgﬁlﬁm% 3| o AT AR I 7

1
A) 3

(D) SRk & T A 7

A=fE A @91 B, 4 km ol 3 GEd ¢, %

ko TTERR @i 7 | 3fE SRl it it Siguta
5:4 %, d1 SliaAamen g H fhadl TR R
T 7

(A) H SR
B) A
(C) THAR
@) w7

& F1 % ford sE18 / SPACE FOR ROUGH WORK!

0172/GD-JT/RCE-M [36]

Set - A



117.

118.

119.

What is the average of 210 and 220 9

-

(A) 230

(B) 215

(C) 2° 420

D) 30

The ratio between two numbers is 3 : 4 and
their LCM is 180. The first number s~

(A) 18

B) 25

(C) 45
D) 60

The salaries of A, B and C are in the ratio
2:3:5. Sum of the salaries of B and C is
Rs. 8,000, then what is the percentage of
salary of C with respect to salary of A ?

(A) 250%
®) 100%
(C) 200%

D) 150%

117.

118.

119.

2103 2207 afwra w1 B 7

(A) 230

(B) 215
(C) 2° 4210

D) 30

QN TS H ST 3:4 ¥ A1 SR A
TAEIed 180 3, T W g §

(A) 18

® 25
) 45
D) 60

A, BT C ¥ 3o & SHWE 2:3: 53 | B
3R C & F =1 AT 8,000 Fo B, A C @

- 907 A % a9 w1 forae TR R —

(A) 250%

®) 100%
(©) 200%

D) 150%
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120.

121.

122.

A and B can complete a piece of work in 10
days. B and C candoitin 15 days. C and A
cando it in 20 days. Only Ccandoitin—

(A) 60days
(B) 120days
(C) 80days

(D) 30days

Three years ago, the average age of A and B
was 18 years. When C joins them, the
average age becomes 22 years. How old is
Cnow ?

(A) 24years
(B) 26years
(C) 28years
(D) 30years

A father tells his son "I was of your present
age when you were born." If the father is now
36 years of age, how old was the boy 5 years
ago?

A) 13

®B) 15

©) 17

D) 18

120.

121.

122.

A 3R B 0w &M %l 10 fort # 9 e &, B 3R
CRISTATamCaMAR 20 TE@AR
TR & | C el 3T HM FH T HAN ~

60 i @
120 #
gofea
30fe A

(A)
®B)
©)

D)

@ o @ A @R B @ afwa w18 4t |
C % fireiepr S 3ftad 55 22 8 S g | C
H G FNT I

(A) 247

B) 26

(C) 287

(D) 308

ek el 3 O @ el AN A g % R
3g o1 & o o g Ber ge A | e T i ey
Foft 36 R, A g A g 5 o foherT oft 7
(A) 13

®B) 15

<o 17

O) 18

TR FH F Tl 998 / SPACE FOR ROUGH WORK
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123.

Without any interruption a car goes
80km/hour speed. But interruption comes,

speed decreased by 60 km/hour, then the rate

123.

T R T A wehEe % 80 BrAt. [ et
IR T 2, T S SeREIE 81 St & o
SR AT Few 60 Rt / wer 3 et |

of interruption is - FR & I T @ AT )
(A) 12 minutes/hour A) _12137!:12/‘&'?{['
(B) 20 minutes/hour (B) 20 fre / =
(C) 30 minutes/hour (C) 30 Toe /s
(D) 15 minutes/hour (D) 15 fme /s
124. 1If the cost price of 12 pens is equal to 124. 3fg IZWW@ SWﬁﬁ}p{H@%
the selling price of 8 pens, the gain IR B, a1 H Wi & —
percentage is—
A 25%
A) 25%
B) 28%
®) 28%
©) 50%
©€) 50%
1
D) 33%% D) 335%
125. If loss is %of selling price, then the loss 125. afg @it feht Hm # L % a grﬁ kil
percentage is — e B —
(A) 20% (A) 20%
B) 33% B) 33%
(C) 66% ©) 66%
D) 25% D) 25%
¥ <t % ford STE / SPACE FOR ROUGH WORK
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126.

127.

128.

129.

130.

| A) 20%

If the ratio of cost price and selling price of an
article is 4 : 5, then profit percentage is —

B) 25%

) 30% D) 50%

A person incures 5% loss by selling a watch
for Rs. 1140. At what price should the watch
be sold to gain 5% ?

(A) Rs. 1280 B) Rs. 1260

(C) Rs.1200 (D) Rs.1240

If the amount is 2-25 times of the sum after 2
years at compound interest, the rate of interest

per annum is —
(A) 30% B) 50%

(C) 20% D) 25%

1
The compound interest on Rs. 20,480 at 6 Z %

per annum for 2 years 73 days is —
(A) Rs.3131 (B) Rs.3636
(C) Rs.2929 (D) Rs.3000

At what ratio must the water be mixed with

milk to gain 16 % 9% on selling the mixture at

126.

127.

128.

129.

130.

Ay 20%

(A) 3131%0

A 4 : 53, A O B el § —

B) 25%
(C) 30%

U s AT HE B 1140 To A T &, dl
I 5% 1 B Bl B | T 39wl TR 7
T 99 R 38 5% T & T 7

B)
D)

D) 50%

(A) 1280%° 1260 %o

© 1240 %0

1200 %0

ot A e TRy = @ 2 e

225 71 31 e 2, vt i el feh X ®

A) 30% B) 50%

©) 20% D) 25%

20,480“60?611;{%?{6fﬂwf§m6%%3ﬁ
w29 73 R A w1

®B)
(D) 3000%e

3636 %o
(C) 2929%o
gt ot e T g § e s e

o s g 16%—% 1 W & )

cost price ?
(A) 1:6 B) 8:1 (A) 1:6 ®) 8:1
C) 2:3 D) 4:3 (© 2:3 D) 4:3
T F & ford w1 / SPACE FOR ROUGH WORK
0172/GD-JT/RCE-M [40] Set - A



131.

132.

133.

134.

135.

If Rs. 782 is divided into three parts, propor-

tional to lg :é » then the first part is —
23 4

(A) 204 (B) 188

(©) 190 D) 192

The ratio between areas of two similar triangles
is 16 : 25. Then the ratio between their
perimeter will be —

(A) 3:5 B) 4:5
C) 1:3 (D) None of the above
Diagonal of a square is —

(A) 2 xlengthof aside

(B) 2xlengthof aside

(© /3 xlengthof a side
(D) None of the above

The number of straight lines joining 8 points
onacircle is —

A) 8 B) 16
D) 28

If side of a square is increased by 15%, then
area will increase in is —

©) 24

A 15% B) 3125%

(©) 3225% (D) 225%

L2

132.

133.

134.

135.

Zr%7826o®3mvﬁﬁl 3 = %sa@maf(
ﬁwﬁaﬁmma?ﬁmm%—

(A) 204 (B) 188

(C©) 190 D) 192

QY B 3 &l @ ST 16: 258,
dt Bt % afe &1 s 2 —

(A) 3:5 B) 4:5

© 1:3 (D) S T A B 7
7t 7 foremof B R —

(A) 2 x T go i e
B) 2 x T T Y T

(©  3xTE G

D) SWE T AR T

el a1 % 8 fargeft o) g areh exeer et
T T geft —

A) 8 (B) 16

©) 24 D) 28

fenelt =t 6t g5 A 15% Tern w1, aﬁa%ﬁ
&Rt F g gl —

A) 15% B)
(D) 225%

31-25%
(©) 32:25%

% %1 % fordl W1g / SPACE FOR ROUGH WORK
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136.

137.

138.

139.

140.

In arectangle, length is incressed by 20% and
wide is decreased by 10%. Then effect of its
area is — ‘

(A)
®)
©
)

If the surface areas of two spheres are in the
ratio of 4 : 25, then the ratio of their volume is —

(A) 4:25 B) 25:4

(C) 125:8 (D) 8:125

The area of the base of a rectangular tank is
6500 cm? and the volume of water contained
initis 2-6 cubic metres. The depth of water
in the tank is —

A) 35m (B) 4m

) Sm D) 6m

The side of a square is increased by 5%, then

the area of square will increase by what
percentage ?

1 1

12% increase
8% increase
9% ncrease

None of the above

(A) IOZ% B) SZ%
C lll% 81%
© 117 ®) 387

If the circumference of a circle is 3—73 , then

the diameter of the circle is —

_ 15

(&) 60m ® 5
T

o) i

136.

137.

138.

139.

140.

(©

T S hl AR 20% Tl € Y AT SR
JeE 10% Fa1 & WY, a1 ITh &R W 0
THE U

12%9g ®B) 8%dg
(C) 9%Tg (D) SWRHH A HE T
fe Q1 viieil U8 el 1 ST 4: 257, Al

(A)

I TG Sl I 2 —
(A) 4:25 B) 25:4
(C) 125:8 (D) 8:125

forell STIATRR S % SMER & &% 6500 THI2
2 | afe Sad W g e 2- 6 7 i
B, R T WG TR bl T geit —

(A) 35M@  B) 4HX

(C) 5HX (D) 6H=X

foreft =t 1 gom § 5% A g A T 2 A
T AEde 8 fehe Wi 6 afg & S B 7

(A)

10%% B) 5%%

11%% D) 8%%

15
(A) 60n B8 —
o
e iy

IF F & T 918 / SPACE FOR ROUGH WORK
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PART -V (General Hindi)
T - V ([H I%a‘i)

141.

142.

143.

144.

145.

146.

freferfige s & e 7t @ o o 3 e
Tl g 7 |

(A) e (B)

(€) fag (D) digen

g 7 e dit A R -

(A) = Hfy B) T
(C) T\l D) & afy

' P ransi 3 - i e
TR
(A) Hoar ®) fafam
(©) fefemr D) WewgE
Fretforfat 3 & -ar aeam v 3 9
(A) M@ B) e
(C) et (D) |
ECTENCE S
A) D B) Teg
(©) g (D) @™
T fel g R —
A) = | (B) W3R
© & (D) @

T w1 % fordl §91g / SPACE FOR ROUGH WORK

0172/GD-JT/RCE-M [43]

Set— A



147.

148.

149.

150.

151.

152.

‘el o1 QIR ERER 1 W o © —
(A) wemg  (B) Wi
(©) = D) T3

forfafaa 7 A dF-a1 o= R 7
A = ®) <«

© T ®) &
TegeAf g § HA-T1 S §

A ®) Wi

©) g (D) SWrE T J FE T
forfafaa A HA-91 TG W Q)

A) @ifa ®) &d
(C) D) T
FH T F-G1 TeE TG AE 8 ]
A) W ®) e
(€) TE D) T

T e & ‘arear’ Treg fordsmn 6 = H g
gAE ]

(A) T I Tgd 301 R |
(B) 3T, gH T WAl |
(C) T et Tema ot 3 e |
(D) 331 § T 3l &7 T |

& FE % o 9918 / SPACE FOR ROUGH WORK
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153.

154.

155.

156.

157.

158.

frefofea # & gg e - 2 9
(A) T (B) I

(©) T (D) IsEe

Qi B vl e R 9

(A) g B) sl

(C) @ D) fgq
el wrecl & & AF-wr e R 2 9
(A) B) et

© o D) frem

HTH R AH T 2We; A1 71 e § 7
(A) @ (B) Gr-frivy
© wwW (D) fmn

T A gl & fRa 3 e S 3§ 9

A @ B) o=
(C) =R D) dU=
S o foremef § -

(A) I B) W
(©) from (D) SWEF Q FE 75

T Rt % ford sTg /SPACE FOR ROUGH WORK
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159, TR B ek o B @ -
(A e (B) FER
(C) & ©) freee
160. =THRPE gt & g T & -
ONIRCRIRE (B) AR
(C) i ) IREIRED
161. ‘Faffe # weaa 8 -
(A) T B) T
© fa ® =
162, ‘HEW @ Toelm e - E ]
W @ - ® g
(C) | D) T

163. el § A-a o W wE § A

HAT S 8 7
(A) (B) T
(€) e ©) wrEh

164, et gy @ v F M A @ -
A) 4 ®B) 2

(C) 3 | D) 6

I %14 % for% wg / SPACE FOR ROUGH WORK
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165. frefeiaa # aomm e & -

A) g (B) wwl

©) & D) =Rer
166. fr=ifafed # @ agma v 3 -

A i B) a4

(© fon D) Was
167. frfafaa # St w3 -

(A) Gus B) IEER

(C) werg D) egr
168. Trfafea # e wee & —

(A) fefee ®) @r

(OIIE (D) TR
169. ‘guetier’ vieg 1 vataareh § -

@) TR B T

(©)  Hfem D) digw
170. faar 1eg 1 vatar o= § ~

&) = ®)

(C) et D) K

% 14 % fordl W12 / SPACE FOR ROUGH WORK
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171. ‘Sl sTee o1 T =g © —

(A) T ®) i

(C) S (D) aniEmd
172. qﬁgzmﬁaﬁm’ﬁw%— |

(A) & ®B) <A

(C) afeaat O e
173. I A et o feneft erer <t aret g

HAATAHE -

(A) el - ®) mE

(C) ¥ (D) TEE
174, SR 1 7 °TE %I’ EER B T I B -

(A) e H T

(B) =l &

(C) WeF

D) g e T B
175, ‘R &1 W GErRR 1 we B -
(A) IO A HHAAR
(B) & SiigA 1 0 A
(C) & H
(D) HHd &

6 % & fod S8 / SPACE FOR ROUGH WORK
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176

177.

178.

179.

180.

S A WS Wy A e o -
(A) @ ek g g

(B) R &

(C) e &

D) Trelt g A Rorderd 7 g

T @ W FelteT et Y SRfE 5w
g

(A) SHAGAT 1 9

B) T

(C) TR R A, g U g

(D) wEe

AR 1= 8 —

A) = H g dgg

®) = f e & argg

(C) =viseA i ¢ & g

D) =l i g @ srygg
IATETE =t T I & —

A a = B) T T

© & & (D) IN®FY R A
foaor o 3 —

A 3 ¢ B 3

€ € g D) IWH T A FE 7

% %1 % forl s0Tg / SPACE FOR ROUGH WORK
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PART - VI (General English)
T — VI (A 2sT)

181. Choose the correct sentence —
(A) The sceneries here are not good
(B) InIndia there are many poor
(C) Wehavereceived no informations
(D) He provided the blinds with food

182. Insert a suitable article in the blank to
complete the following sentence from the

alternatives provided —
We had dinner in most expensive
restaurant.
A) a B)
(C) the (D) some

183. Select the correct sentence from the following
sentences —

()  Hehad fourday'sleave.

() Hehadleave of four days.

(i) Hehad leave for four days.

(iv) Hehad four days leave.

(A) (Dand (i) B) (i) and (iii)
(C) (i) and (iv) D) ([DHand(@(v)

& F1l % fordl ST / SPACE FOR ROUGH WORK
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184. Fillin the blank choosing the most appropriate
alternative and complete the following
sentence —

We them to arrive since last thursday.

(A) haveexpected
(B)  havebeen expecting
(C) expect
(D) areexpecting
185. He said to me, ““Go home.”

Which of the following sentences correctly
expresses the above sentence in indirect
speech ?

(A) Hesaid meto go home.

(B) Hetold, Gohome !

(C)  Heltold me to go home.

(D)  He said thatI must go home.
186. The room will be cleaned later.

Select the correct active form for the above
sentence from the alternatives suggested
below —

(A) Somebody will clean the room later.
(B)  Somebody shall clean the room.

(C)  Somebody later is going to clean the
room

(D) Somebody must clean it Jater.

T #1 % ol 99T / SPACE FOR ROUGH WORK
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187. Choose the correct passive form for the
following sentence —

My parents are watching the kids.
(A) Thekids are watched at by my parents.
(B) Thekids were watched by my parents.

(C) The kids have been watching by my
parents.

(D) The kids are being watched by my
parents.

188. Select the word which is choosest to the
opposite in meaning of the underlined word in
the following sentence —

The facts of the case were obscured by the
speech of the defence counsel.

(A) reflected (B) illustrated
(C) exhibited (D) dlarified

189. Choose one word substitute for the following
phase from the alternatives provided —

One who is gifted with several talents

(A) Versatile (B) Stoic

(C). Volunteer (D) Omniscient
190. Choo»s’e the mis-spelt word —

(A) embarassments  (B) harassed

(C) cdiosyncracies (D) unparalleled

6 FE % fo@ 518 / SPACE FOR ROUGH WORK
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191. They are playing cricket.

Fill in the blank with appropriate article if

required —~
(A) a B) an

(C) the (D) noarticle

192. Musicians mind are attuned music.

Fill in the blank with one of the following

preposition. :
(A) on (B) at
(C) with D) 1o

193. Which of the following word is an adjective
formed from the word “passion” —

(A) passionism
(B)  passionately
(C) passionate
(D) Tnone of the above
194. Which of the following is not a cénjunction ?
(A) and (B) on.

(©) but (D) none of the above

Y% w1 % fordl 18 / SPACE FOR ROUGH WORK
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195. “Shun the dangerous path”.
What is the passive form of the above
sentence ?

(A) Let the dangerous path be shun.
(B) Let the dangerous path be shunned.
(C) The dangerous path should be shunned.
(D) None of the above

196. Consider the sentence —

He said,““Alas ! I am ruined.” What is the
indirect speech of the above sentence ?

(A) He said that he was ruined.

B) . He exclaimed that he was ruined.

(C) He exclaimed that Alas he was ruined.
(D) None of the above

197. Which of the following word is not its own

singular? -
(A) Scissors (B) Spectacles
(C) Tongs (D) Stereos i

TF 14, & T s / SPACE FOR ROUGH WORK
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198.

199.

200.

What is the antonym for “culpable” ?

(A) Prone

(B) Blameless
(C) Careless

(D) Irresponsible

Which of the following has the correct
spelling ?

(A) Catastropic

(B) Catastrophe

© Catostrophe

(D)  None of the above

The one word used for the branch of
physics dealing with low temperature is —

(A) Cytogenetics
(B)  Cryptography
(C)  Cryogenics

(D) None of the above

6 14 % 1 18 / SPACE FOR ROUGH WORK
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es :

This question booklet contains 200 questions. Each question carries 1 mark. Answer all
questions.

2. This question booklet consists of parts namely :
Part (1) General Studies 1- 50, Part (2) General knowledge of Computer 51— 80,
Part (3) General Mental Aptitude 81-110, Part (4) General Mathematics 111-140,
Part (5) General Hindi 141- 180, Part (6) General English 181—200.
Indicate your answers on the OMR Answer-Sheet provided.
1 mark is allotted for each correct answer and 1/4 mark will be deducted for each wrong
Answer.
Use of any type of calculator or log table and mobile phone is prohibited.

6. While using Answer-Sheet care should be taken so that the Answer-Sheet does not ge
torn or spoiled due to folds and wrinkles.
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